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QUESTION 1

When determining the number, type, and size of Horizon View components to be installed, which three pieces of
information must an architect know? (Choose three.) 

A. Number of concurrent users who will connect to the environment. 

B. Type of client that will be used by the users. 

C. Version of Windows that will be used for the virtual desktops 

D. Type of desktop pools that will be provisioned. 

E. Maintenance windows and availability requirements for the environment. 

Correct Answer: BCD 

Reference: https://docs.vmware.com/en/VMware-Horizon-7/7.2/view-72-installation.pdf 

 

QUESTION 2

DRAG DROP 

Match the customer issue with a VMware Horizon View solution. 

Select and Place: 

Correct Answer: 
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QUESTION 3

The CIO of a company has asked that a review of all user\\'s applications be undertaken to improve storage usage.
After the review, it was found that a number of applications are used by several different organizations within the
company. These applications are currently all installed in all of the different master images, making each of the master
images very large. 

What VMware technology would improve storage usage? 

A. VMware FLEX 

B. VMware Mirage 

C. Horizon Published Applications 

D. VMware Identity Manager 

Correct Answer: C 

 

QUESTION 4

A customer is looking to implement Horizon View Windows desktops for a 500-seat call center operating under these
conditions: 

1.

 Three 8-hout shifts 

2.

 First and second shifts are 100% staffed 

3.
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 Third shift operates with reduced staffing of only 200 representatives 

Management is frustrated by the lack of productivity that occurs during shift changeover. Logoff and logon processes
take in excess of 5 minutes. 

The customer has asked an architect to recommend the most cost-effective configuration that provides the shortest
possible amount of downtime between shifts. 

Which two should the architect choose? (Choose two.) 

A. Deploy named user licenses. 

B. Create an instant clone pool. 

C. Create a full clone pool. 

D. Deploy concurrent licenses. 

E. Capture Windows applications as a Thin App. 

Correct Answer: BD 

 

QUESTION 5

A government organization wants to deploy a brand new Horizon system using RDSH desktop automated farms while
installing the fewest instances of Windows servers. They also want to preserve user profiles, personalization and
application customization. 

Which option meets the requirements? 

A. Use RDSH instant clone farms and App Volumes including Writable Volumes. 

B. Use RDSH linked clone farms and App Volumes including Writable Volumes. 

C. Use RDSH instant clone farms and User Environment Manager 

D. Use RDSH linked clone farms and User Environment Manager 

Correct Answer: C 
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